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The following example shows the ruleset list for the logged-in operator. What is stored in the Admin@MyCo ruleset?

Rulesets
Admin@MyCo:
Purchasing.01-01
Purchasinglnt:01-01

MyCo:01-01

MyColnt:01-01

Supplier:01-01

Customar:01-01

inventory.01-01
Pega-ProcessCommander:07-10

Pega-Decision5Science:07-10
Pega-DecisionArchitect:07-10
Pega-LP-Mohile:07-10

Pega-LP-Integration:07-10
Pega-LP-Reports:07-10

Pega-DeploymentDefaults:(7-10

Fega-LP-ProcessAndRules:07-10

A. Preferences for the operator

B. Rules recently opened by the operator

C. Rules delegated to the operator

D. Rules checked out by the operator

Correct Answer: C

QUESTION 2

Which two of the following options are benefits of using skin inheritance? (Choose Two)

A. Creating standard styles in a parent skin are easier to maintain.

B. Child skins can reuse mixins and formats from other child skins with the same parent.

C. In order to maintain consistency, child skins cannot modify formats and mixins from the parent skin.

D. Child skins only need to customize the parent skin.

Correct Answer: AD
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QUESTION 3

Which scenario might benefit from using a temporary case?

A. Banking customers can access a bank\\'s online portal to apply to open a checking or savings account.

B. Airline customers can view their travel itinerary or submit a request to modify their itinerary, subject to fees.
C. Insurance customers can call a call center to file a new claim, or make changes to a current coverage policy.
D. Retail customers can process a return for one or more items in their order or they can process an exchange.

Correct Answer: B

QUESTION 4

What advantage does skimming provide over lock and roll as a versioning option?

A. Skimming carries blocked rules forward. Lock and roll does not carry blocked rules forward.

B. Skimming is most efficient for major and minor updates. Lock and roll is most useful for patches.
C. Skimming saves checked out rules. Lock and roll does not save checked out rules.

D. Pega provides a skimming wizard but not a lock and roll wizard.

Correct Answer: B

QUESTION 5

In a prepare job offer process, you configured a Split For Each shape. The shape runs a compensation approval
subprocess to a list containing four managers. The prepare job offer process resumes as soon as one manager
completes the approval process. Which join condition in the Split For Each shape supports this requirement?

A. An Any join condition

B. A Some join condition

C. An All join condition

D. An Iterate join condition

Correct Answer: A
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An application has the following application rulesets: Expenses:02-01 TGB:02-01 TGBCatalog:02-01 A rule with an
Apply to: class of TGB-Expenses-Work-Reimbursement references a rule named

PopulateLineltems. The six instances of PopulateLineltems in the rules cache are shown in the following

table.
Apply to: Ruleset : Version Availability
TGB-Expenses-Work Expenses:02-01-05 Withdrawn
TGB-Expenses-Work Expenses:02-01-03 Available
TGB-Expenses-Work TGBCatalog:02-01-05 Mot Available
TGB-Expenses-Work TGBCatalog:02-01-03 Blocked
TGB-Expenses Expenses:02-01-03 Final
TGB-Expenses TGBCatalog:02-01-05 Available

Which rule is chosen by Rule Resolution?

A. TGB-Expenses.PopulateLineltems (TGBCatalog:02-01-05)

B. TGB-Expenses-Work.PopulateLineltems (TGBCatalog:02-01-05)
C. TGB-Expenses-Work.PopulateLineltems (Expenses:02-01-05)
D. TGB-Expenses-Work.PopulateLineltems (TGBCatalog:02-01-03)
E. TGB-Expenses-Work.PopulateLineltems (Expenses:02-01-03)

F. TGB-Expenses.PopulateLineltems (Expenses:02-01-03)

Correct Answer: D

QUESTION 7

Which two statements about adding a pre-processing action to a flow action are true? (Choose Two)

A. The user can opt to skip the pre-processing action.

B. The action only runs the first time the flow action is performed on an assignment.

C. The action runs each time the user returns to the assignment.

D. The action automatically runs if the flow action has the highest likelihood for the assignment in the process flow.

Correct Answer: CD
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QUESTION 8

The purpose of a Circumstance Template is to

A. provide a template for business users to change circumstances when completing a task
B. provide a list of all potential circumstances in one place

C. define the properties used in a circumstance

D. define the values used in a circumstance

Correct Answer: C

QUESTION 9

To reduce training requirements for users, a company wants to utilize the existing front end of their application.
How can a third-party application use Pega Platform?

A. By using REST calls from the Pega API

B. By using database tables for staging the requests

C. By exposing third-party application services

D. By using middleware tools in application servers

Correct Answer: A

Reference: https://www.pega.com/system/files/resources/2019-04/open-source-a-hybrid- approach-v2.pdf

QUESTION 10

A job recruiter screens candidates to assess their qualifications. The recruiter determines whether the candidate
matches the targeted position, matches a different position in the company, or does not match any position. A decision
table, based on the recruiter\\'s feedback, automatically advances the case through a corresponding connector named
Selected Position, Targeted Position, and Reject. How do you configure the condition column(s)?

A. Create separate columns for Selected Position, Targeted Position, and Reject.

B. Create separate columns for Matches Position, Matches Another Position, and Does Not Match Any Position.

C. Create a single column for Position.

D. Create one column for feedback, with three rows for the three possible decisions.
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Correct Answer: D

QUESTION 11

Which of the following is not part of the organizational structure?
A. Division

B. Unit

C. Organization

D. Work Group

Correct Answer: D

QUESTION 12

An application includes three case types. Members of the App: Users access role are not allowed to run reports for one
of the case types.

Which two configurations can you apply to satisfy this requirement (Choose Two)

A. Create an Access Deny record and set the Run reports action to No Access.

B. Apply an Access When record to test for the user role to the Run reports action in the Access Manager.
C. Use the Access Manager and set the Run reports action for the case type to No Access for the user role.
D. Apply an Access When record to test the case type to the Run reports action in the Access Manager.

Correct Answer: BC

QUESTION 13

How do you ensure that only a manager can run a specific flow action?

A. Add a privilege to the flow action form, then add the privilege to a role assigned to the access group for managers.
B. Add an Access When condition to the flow action to determine whether the user is a manager.

C. Add a pre-processing activity to the flow action form to determine whether the user is a manager.

D. Add a validate rule to the flow action form to determine whether the user is a manager.
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Correct Answer: A

Reference: https://community.pega.com/knowledgebase/articles/security/how-restrict-who- can-use-flowaction

QUESTION 14

Identify three true statements about accessing databases through external classes (Choose Three)
A. External classes require a Pega-generated composite key.

B. External classes do not contain the pzinsKey property.

C. External classes cannot belong to a class group.

D. External classes contain a BLOB for faster processing.

E. External classes map Pega properties to database columns.

Correct Answer: BCE

QUESTION 15

You have designed a decision tree that you want to unit test. You want to verify that every row can be evaluated
regardless of the input values. How would you test your decision tree?

A. Add the decision tree to a decision shape and create cases using various test values.
B. Check the decision tree for conflicts.

C. Check the decision tree for completeness.

D. Use a test page to run the decision tree.

Correct Answer: B
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